Om

9517€+0

15.00

20.00

w

20.00

Langsschnitt

20.00

200

M1

20.00

190.00

20.00

20.00

0+229.647
85721 m

5.097 %

210.102 m

Stitzwand

L_.
L_.

H———
N .

S

—————

02’1

F o

LLOGL| 6ZL6L

€ETLL

000°09€

LELBL

€L66SE

1SV6L

€CL'8SE

CEEBL [ 66E6L

LZLL

000'95€

W18%'6L

€CLESE

9056L

€LYZSE

9896L [ 1996L

66l°LL

0+350

000°0S€E

9E86L

018'9%€

658'6L

0LE'SHE

LY86L

LLS6L

LLE

LL) 000SYE

960708

LLL08

TELL

000°07€ |

612708

0LE6EE

172708

0Lg'LEE

1GE08

01708

LLELL

000'S€€

10908

0L181EE

12908

0LE0EE

90908

1908

S6E'LL

000°0€€

19808

246708

€LLL | 000Gz

786708

0LE™ZE

9

0018

algzee

S8

9LI8

6ELL| 0000CE

99¢€18

€0691L€E

68€18

LEYSLE

0LE18

SLylg

89%'LL| 000SLE

S7918

2zL18

L9GLL| 000°0LE

67L18

7LS60E

F o

LLLL8

80L'80€

08818

29618

659°LL | 000G0€

LELZ8

S%ZZ0€

7491

8 6LL00E

SElZ8

10228

69L°LL| 00000€

06€28

805"

¢8| 1Z6LL| 00096¢

11578

206762

9€578

20%'€62

0+300

797

—_————

8

0428

0L08L [ 000062

96

88 207L8¢

6l

678

206'582

668"

8

€168

0028L

000982

7S1'€8

€

LZ€8| 1Z€BL| 00008

A

6L2€8

206%6L

L0€€8

20%8L2

60

€S

S0SEB | O0L%8L| 000G

LZ

199€8

20%2ZLe

789°€8

206012

4

99€8

8ELES | LLY8L

0000L

616€8

8E0%8 | L9LBL

000992

7908

206192

9908

20%€9¢Z

L8

0LZ%8 ] L006L

00009¢

92748

20%LST

67778

206'S5¢

6248

€098 | WZ6L| 0

00652

€898

€088 | 9zS6L

000082

0+250

Gelander ist nicht
dargestellt

hTS
H

T
f

km

20.00

20.00

350.000 m
7520 m

=0+187.231
86.060 m

km

0.081m

i

'ﬁﬂﬂﬂ"ﬂﬂﬂ'ﬂ#ﬂﬂﬂ'ﬂnﬂ'—ﬁ'ﬂ

350.000 m
10320 m

hTS

e e e T T S S T S T S e i i R T e T e i i e i i e e e e e e

6088

206642

€848

20%8%

8E6™8

SE0S8| SILBL

000S%Z

16198

209292

11298

206°0%¢

€61'98

89768 | 96L6L

000042

02€'S8

ZEL6ET

LEESS

I9'LETZ

L7

768 80958

888'6L

000562

6298

08958

2668L

ooqomg

98998

991627

07998

L%9'62¢

9ML'S8

16L'S8

8ZS'LL

000'S¢Z

18L°98

Leveee

05858

LLE0Ze

86L'G8 | 25858

65ZLL

000022

lELLL

86868 | 58898 6l

TLL) 000612

15.00

951GL+0 Wy

907471 +0 wy I

F_ Stitzwand

—=

107691 m

——— - ]
N

[

I N

s

o~

8L8'98 | 8l6'98

L9TLL

000012

81698 [ 95658

S8E'LL

000502

SLS00¢

T 85658 96658

0ZSTL| 00000

966'S8

7€6'66L

8L6'S8

LSSL6L

50098

SZ0L6L

686'G8 | 10098

8ZS'LL| 000°G6L

686'S8

LSLH6L

9568 | 6%6'S8

SL9LL| 00006l

106'S8

0LSL8L

0+200

806'S8

LETLBL

€588 | 1858

096'6L [ 000681

8L9G8

LL9S8

08818

000081

€958

LL6'9LL

5998

907'SLL

LEY'S8

5598

SZ618

000SLL

14E°98

LSLZLL

12€'58

€€60

L

281'S8

SLZS8

SL618

000°0LL

L2678

02058

68618

000591

19678

9L09L

6€

68

99l

L98

88L8

€7618

000091

6

LS8 9l

5961

9

598 9l

0SSk

LIT8

SSS8

89818

000'SSL

9148

GSCw8 | 8LL18

000061

0+150

96148

9L06YL

L8

9LSLIL

806€8

€208 29918

000591

718€8

9LGLyl

L6LES

9L0°04L

€99¢€8

06L€8| %8918

000091

86£€8

06%€8| (CES18

000°S€L

LEYES

9L0MEL

607€8

9lszel

€91€8

85Z€8 | €vY18

000°0€L

73.0 m iiNN

Gradientenhéhe 2
Geldndehdhe

Station Gradiente

Gradientenhdhe 1

|
|
|
_
-




Regelquerschnitt

M 1:50

8.00

Uberbauplatte

|25 2.40 10 2.50 10 2.40 25|
(| T 7

Schnitt Achse 30

M 1:50

8.00

L
],, 50 , 2.50 25, 4.00 )
] ’| Gehweg ’| ’| Radweg ’|

1.25

—_
-
N
—_
Y
—_
-

N
M T JY"
% N
| Ul
=
N
N
(Wa)
év
DD AR SR

N

o
Gehwegachse

= :

m

=
Radwegachse

N
(=4
xR

Pfeiler nach
/_ statisch-konstruktiven

Erfordernissen

17759

Gleis Str.1722 S0=717.600, 77.599

1 ——— Fundament nach
s // statisch-konstruktiven
// / Erfordernissen
Sauberkeitsschicht g / // /
d=10cm / s . .

NN NN NN NN NN




	Pläne und Ansichten
	Variante 4

	Pläne und Ansichten
	Variante 4


